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r&tﬁaﬁi irf_l Number and Serial Number of the Answer Sheet by pen in the space
On the front page of the Answer Sheet, write by pen your Roll Number in the space
provided at the top, and by darkening the circles at the bottom. Also, wherever applicable,
write the Question Booklet Number and the Set Number in appropriate places.

No averwnlglé is allowed in the entries of Roll No., Question Booklet No. and Set No.
(if any) on OMR sheet and also Roll No. and OMR sheet No. on the Queslion Booklet.

7. Any changes in the aforesaid entries is to be verified by the invigilator, otherwise it will be
taken as unfairmeans, ' *

8. Lach question in this Booklet is followed by four altemnative answers. For each question,
you are to vecord the correct option on the Answer Sheet by darkening the appropriate
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17U/103/31(Set - 1)

No. of Questions ;: 170

Wl &Y s : 170
Time : 2 Hours ] [ Full Marks : 450
Y 1 2 g2 ] [ Qo1 : 450
Instruction : '
fader :
This paper consists of Objective Type Questions and is divided into
Two Sections (I & If) as under :
T8 F-07 FEfadcedta we ) ameiRa & aom af weeY (1 @ 1) ¥ Rwar & S
f& = aftfe & -

(a) Section - I consists of 130 Objective Type Questions on General Awareness,
Current Affairs, Common Legal Knowledge, Aptitude and Mental Ability.

e - 1 # 130 sgfeciy 7w o e, wle vl wmen AR
eI, SRS v ARie draar w smfa )

(b) Secion — II consists of 20 Objective Type Questions on (I) English
Language and (I) Hindi Language.
WS~ I 4 20 Sgfeadia aw () oish 9 ok () R=) s 3 I W
e |

;l&: can::ldg:etetis reqmreAd to attempt as man}; questions as he/she can of Section-
a stions on ANY ONE of the TWO Language papers (I} English
(ID Hindi in Section - I1. e b

sraefl & aniftre @ 5 wve ~ I om WY - 1 B (D) st @ () R ®
HREE qeA B g Y| - e

Note/Tle: (1) Answer as many questions as you can. Bach question carries 3 (Three)

e il be deducted fﬂr each incorr
i ‘orrect an )
mark will be awarded for each una ttempted question. swer. Zero

WMﬁ_mmwmmim.ms (@7) sz @

8| Ww ToT Y P R0 U & Brer
bl R T | TAE F R v

(1) P.T.0
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17U/103/31(Set - 1)

(2) 1f more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

a2 EiE dehae SR W uwR @ R wha E & Frecad 9el
9T ¢

{3) Each question is followed by Four alternative answers (1), (2), ) anuc
(4). Only one of these answers is correct. Select the correct answer and
record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer-Sheet, as per guidelines.

vl g @ OR Tohus sw g m & R ), @), @) 7 W
sidat & zwiar T ¥ T BOd T R & wel 2| 9B e P wH
Wﬁ%ﬂ%#ﬁﬁm-ﬁﬁaﬂm&ﬁw%mﬁﬁ EERHE L
ﬁﬂgﬁﬁﬁm@iﬁmﬁ‘whgmmaﬂzﬁw[

SECTION -1
qrs - |

1. The H.C.F. of two numbers is 11 and their L.C M. is 7700. If one of the number
is 275, then the other is
2 werall @7 Fodovo 11 # iR TTH1 Tedovo 7700 ¥ AR TH W@ 275 &, «f

ET\'&T TRl @Pﬂ /
(1) 279 (2) 283 (3) 308 (4) 318
2 The sum of two numbers is 528 and their H.C.F. 18 33. The number of such pairs
182
2 weanal & 4T 528 8 ST 9Ad! Hodelo 13| T TS B TR E
(1) 2 (2) 3 (3) 4 4) 5

3. The largest number which divides 77147 and 252 to leave the same remainder
in each case is :

ﬁ@mWWM?aﬁ?zszﬁWiﬁmﬁﬁmﬁﬁqtﬁé’:fmwm

& gg gl ¢
(1) 9 (2) 15 3) 25 4 35

4. What is the least number which when divided by 5, 6,8, 9,12 gives remainder 1

in each case and 1S completely divisible by 132 |
agaﬁa«ﬁii'.‘cﬁfm%.%‘r-ﬁs,ﬁ,s,%lzﬁﬁ'wmwswwﬁﬂ | 9 <@

%aihag13%rgméﬁwxa%ﬂb. )
(1) 361 (2) 721 (3) 1801 (4) 3601

(2)
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17U/103/31(Set - 1)

5. A boy was asked to multiply a number by 12. By mistake he multiplied the
number by 21 and got his answer 63 more than the correct answer, The number
was @ '

UF TS0 DI, U6 6ET BT 12 A o7 FX & Y w1 T | o) @ a® I FeAr
B 21 § N wxar 1 OW WO SR ¥ 63 o wUEer Wi @ &, @ 9 &
TGS - : -
(1) 7 . (2 8 (3) 9 (4) 12

6. Ram went to a shop to buy 50 kg of rice. He buys two varieties of rice which
msthﬁnlils.i:ﬁﬂperkgandRs. 5 per kg. He spends a total of Rs. 240, What
was the quantity of cheaper rice bought by him ? -
(1) 20kg (2) 25kg | (3) 30kg (4) 40kg
% TP GaM R 50 foel gae @0 41| 9% @) YR B a9 @dedr & uF

4.50 T9 9t bl ofR e 5 TUA Uy Ry wE w Framee 240 v w4
B O T FHa aren Rt arge @ ? L i

(1) 20 (2 25k (3) 30 f5e (4) 40 s

7. How :;mny digits are required for numhering the pages of a book having 300
pages

300 I8! A g B el i gl e ¥ e e &) s v & 2
(1) 299 {2) 492 (3) 789 (4) 792

8. A man purchased 147 stamps of 60-paise and 35-paise. The total amotnt he
spent was Rs, 68.20. How many 35-paise stamps were purchased by him ?

UE 2R ¥ 60 H v 35 4 D 147 wiw @i | T i
| ! 59 TR 68.20 o @ &Y
Y 35 89 @ oy =iy @de ? | ﬂ.,‘ |
me  @n B 76 @80

9. Price of 5 chairs and 2 tables is Rs 1'350 TWO chai rﬂ.r
: 5 7 ‘ . cost as much as ¢ 3
What is the price of one chair and one table ? S KR

(1) Rs. 350 (2) Rs.450
(3) Rs. 500 (4) Rs. 550

3t 2aet 7 5 R o drr #1850 v, @ GRRY a7
TN T U I B e ey B 7 ﬁwm%?lk’?ﬁ

(1) 3509 (2) 450 v
(3) 500 vu (4)- 550 w73

(3)
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17U/103/31(Set - 1)

10. The average of all odd numbers upto 100 s :
100 & W@ 96 ¥ § 9w sl o Ed
(1) 51 (2) 50 (3) 49.5 @) 49

11. The average of 100 numbers is 44. The average of these 110 numbers and four
other new numbers is 50. The average of the four new numbers will be :

100 st T ot 44 1 27 100 I @ @R 4R TS T Sl A1 A 50 B | AR
T P T TT BN
(1) 80O (2) 200 (3) 176 (4) 24

12. The average age of 5 members of a committee is the same as it was 3 years ago,
because an old member has been replaced by a new member, The difference
between the ages of old and new member is :

(1) 2years . (2) 4years (3) 8 years (4) 15 yeafs
wmwﬂﬂﬁw%uﬁmﬁﬁmﬁ%mﬂmwzﬁﬁaﬁsmﬂﬁeﬁ
aﬂﬂaa@mﬁ@ﬁiﬁaﬁﬁaﬂ%éwgvﬁmm@wa&

38 % T IR 8 7 _
(1) 229 (2) 499 (3) 879 (4) 15a8

13. Average of 15 numbers is 7. Qut of them, the average of first 8 numbers is 605
and the average of last 8 numbers is 9.5. The middle numbers is :

15 wemsl @1 e 7 &) S A wyn 8 Heell w1 sl 605 & ah afH 8 &
s 9.5 8 o wr At
() 21 (2) 22 (3) 23 (4) 24
14. The average of 50 numbers is~28. 1f two numbers, namely 25 and 35 are
| discarded, then the average of the remaining numbers is nearly :
50 Gl 1 I 98 1 o & WEAT 25 SR 55 @Y ger <A § W O W
& ol &Fr

1) 2729 Q) 79 (3) 927 @) 2972

(4)
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17U/103/31(Set - 1)

Three-fourth of a number is more than two-third of the number by 5. The
number is :

¥ wE=m &1 @ dord swe N R ¥ 5 o varar & @ 98 weaw 2 -
(1) 72 (2) 62 (3) 84 (4) 48

A nufnber is as much greater than 22 as is less than 72. Then the number i :
wmn%tﬁaﬁﬁm%maﬂmﬂmﬁwm%:

(1) 47 (2) 50 (3) 52 (4) 104

The sum of two numbers is 29 and the difference of

s L s of their squares is 145. The
;\mmmuhmﬁmmwmmm g wamt @ i § awrR
(1) 13 2 5 (3) 8 4) 11

Two numbers are less than a third number by 30% and 37% respectively. How
much percent is the second number less than the first ?

< e Ml w=r @ @ 30% it i '
» 30% 37% F9 & | T W4T Gesdl 4 (bas
wfae &9 enft ? ™ ; =

(1) 0% - (2) 15% (3) 20% (4) 25%

If the price of eraser is reduced by 25%, a person can buy 2 more erasers for a
rupee. How many erasers are available far arupee ?

Wwﬁmzsuﬁmmmﬁmﬁaﬁwmﬁawmﬁﬁm—ﬂm
W% wHar &1 UF v ¥ fra WS Ay ¥ ?

(1) 8 2) 6 (3) 4 (4) 2

A.number is first increased by 20% and then reduced by 20°
the percentage change in thexwumber ? uced by 20%. What would be

(1) 0% (2) 2% decrease -
(3) 4% decrease . .{4) 4% increage

wmmmmmmm?aﬂvmmnﬁm
wiem ¥ e oo aaem 2 LR §

(1) 0% (2) 2% &
(3) 4% &% (4) 4% T

(8)
~.70.
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17U/103/31(Set - 1)

21. An ore contains 12% copper. How many kg of ore are required to get 69 kg of
copper ?
(1) 424 kg (2) 575 kg (3) 828 kg (4) 1736 kg
w arrer ¥ 12wl dtar 31 69 foe dfar e awd & fary b fveh s B

Taeaepar gl 7

(1) 424 fdel (2) 375 fFar (3) 828 firci! (4) 1736 (&=

22. A man sells an article at a loss of 10%. If he bought it at 20% less and sold it for
| Rs. 55 more, then he could have gained 40%. What is the cost price of the article ?
(1) Rs.200 | (2) Rs.225 (3) Rs.250 (4) Rs.270
e afi T R F 10 wReE i A w2 R g8 20 wiawa @R ¥ e
AR 50 T warer ¥ daer B, o 99 40 wfwm @1 g € 8| 9w TG @ e

Far 8 ?

(1) 200 Fu3d 2) 225 %7 (3) 250 94 (4) 270 Tud

3. A man sclls tea at 10% profit and uses a weight which is 20% Less‘ than the
actual measure, His gain percent is :
e arfi 10 W@ TS D W A dua @ AR aRaae aor | 20 e oA
T P S HY &, A I FA BT GG 2

(1) 30% (2) 35% (3) 37.50% @) 3%

24, A shopkeeper bought pens at the rate of B pens for Rs. 34 and sold them at 12
| s for Rs. 57. The number of pens, that he should sell to have a profil of
pe [ . '

Rs.Q{JO,mustbe:
wwﬁaﬁﬂmﬁ@mﬁmﬂﬁiIZﬁﬂS?mﬂﬁmﬁafm*%J
@qooﬁuﬁﬁwﬂ*ﬁﬁq%ﬁ%ﬂwﬂﬁ i ?

(1) 1400 (2) 1600 (3) 1800 () 2000
(6)
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17U/103/31(Set - I)

25. 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys
~ finish it in 2 days. 15 men and 20 boys will finish it in :
(1) 4days (2) 5days (3) 6days (4) 7days
6 Jo¥ 3R § TP P o 1oﬁaﬁmmemﬁsi5wmmaﬁsﬁ
2w 4 f & #1 15 gow ol 20 /@ B @ et R 3§ gof 78 ?
(1) 4f2= (2) 5f& 3) 6= #4) 7R=

26. A‘car covers four successive 3 km stretches at 10 km/hr, 20 km/hr, 30 km/hr
and 60 km/hr respectively. Tts average speed over this distance is :
(1) 10km/hr (2) 20km/hr
(3) 25 km/hr ‘ (4) 30 km/hr

(1) 10 fereiritex ufdvey (2) 20 feaier gfewer
(3) 25 frardter ufaeer (4 -sofradizy ufdeer

27. A train without WM at the rate of 50 km/hr and with stoppages it
travels at 45 km/hr. How many minutes does the traix stop on an average per
hour ?

{1) 5 minutes (2) 6 minuteq (3) §minutes (4) 10 minutes
wmﬁwwa%mﬁﬁmanﬁma#aﬂ?mm}a}mﬁm
wﬁmﬁmélmaﬁmwﬂ%#mwg?

(1) 5fme (2) Qfﬂﬂt (3) 8fie (4) 10Pme

28. The total cost of ﬂOOl’ll'lg a room at Rs. 8.50 per square mﬂ'fﬂhﬂs 510. If th
length of the room 15 BT, Treegagth i : "

(1) 7.5m @ 85m (3) 105 m 4 125
wmaﬁmwmma@mmwww'
TR B T 87 2, O I ek e | T B,
1) 75% @8R g w05k -
| (7)
PY.0
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17U/103/31(Set - 1)

29. If the radius of a circle is increased by 6%, then its area is increased by :
R U g & AaE 6 TN I R W@, o IwET A9 fam agm 2
(1) 0.36% (2) 3.6% (3) 12.36% (4) 36%

30. The length of a rope by which a cow must be tethered in order (hat it may be
able to graze an area of 9856 m? is

(1) 56 m (2) 64m (3) 88 m (1) 168 m
v WA @ A R TR Qg F R o 9856 m? @ &F%d H 9T @
Iy 7 Wiy 7

(1) 56 Are” (2) 64 ez (3) 88 #R (4) 168 e
31.  The earth is at the largest distance from the sun on:

{1) June 21™ (2) ]anua?y 3

(3) July 4" (4) September 23

godt |t & T fomr we waer gl W AT & 7

(1) 2153 @ (2) 3 AT By

(3) 4 forid BV S (@) 23 RyaraR

32. Which of the following is an example of Midlatitude desert ?

(1) Sahara desert (2) Arabian desert |
(3) Thar deserl (4) Patagonia desert
Prer 8§ Si9-a weT SETe &7 ISR £ 7
(1) WEr FoH (2) 3RRTT 7R
(3) uR TEGH - (4) Yermfrr oy
33. Molten rock below the surface of the earth is called :
(1) Basalt (2) Laccolith (3) Lava (4) Magma
qeﬁfaﬂmgm‘%ﬁﬂﬂigém;mmﬁ%: |
(1) (2) @iieR] (3) e (4) T
| R W » ig the longest ?
 he following rivers, which one is ¢ g
34. Amnnh;h:a . o) Krishna (3) Mahanadi (4) Narmada
Gogda
) 3 e vl 7ot 27
e (2) P (3) TR @) =
(1) G
(8)
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17U/103/31(Set - 1)

35. Diesel locomotives are manufactured at :

(1) Kapurthala’ ' (2} Perambur
(3) Varanasi ' (4) Jamshedpur
ETd @ S §O BT SETET HET By £ 7
(1) FqReren (2) TR
(3) TRRY . (4) SRR
36. 'Ihespwalpaperrequuedfor rintin f currency b Securi
in the country in mnnfachn'edl;t = % e e
(1) ‘Hyderabad . (2) Kolkata
{3) Hoshangabad (4) Dewas
R 9 BT Ne B9 At Rt B W 2 4wt swre & 7
(1) ¥ _ @) FEHT
(3) EreTRTE (4) 39Ry
37. The central banking functions in India are performed by the .
(1) Central Bank (2) State Bank of India
(3) Reserve Bank of India ~ {4) Both(2)and (3)
& 6 @ B e § e g B o £ 2
(1) ﬂhﬂa L 2) = ¥ i Pz
(3) Rord & sifw e (4) SWRYE (2) 3R (3) 3

38. The existence of a Parallel Economy of Black Money :

(1) Makes the economy more competitive

(2) Makes the monetary policies less effective

(3} Ensures a better distribution of income and wealth

(4) Ensures increasing productive investment

BT B TR ST FT AR

(1) sefaraven o wrei gRRTE T &

(2) #fie M Bsnnd s ¢

(3) s AR o B AER R F Sfwe we @
(9)
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17U/103/31(Set - )

39, . The 'Uruguay Round' negotiations resulted in the establishment of :

(1) NATO | (2) OECD
(3) WHO 4y WTO
YO ASVE B gt B gRumEwy et e %7
{1) To To o 3o (2) 3o g0 Hlo Slo
(3) E&ge YHo 3l (4) swyo To Ho
40. Who among the following was the Constitutional adviser to the Constituent
Assembly of India ? \
(1) DrBNRao (2) DrBR Ambedkar
(3) KM Munshi ' (4) M C Setalvad
e @ T T @ P F B wE TaEer o 7
(1) Slo o T¥Ho @ (2) €lo dlo AR FASHT
(3) do yHo FA (4) o Ho Arraars
41. India became a Sovereign democratic republic on!
(1) Aug. 151947 (2) Jan. 30, 1948
(3) Jan. 26, 1950 (4) Nov.26, 1929
RE e WHARTTH Gedlad TORTS & 7
(1) 15T, 1947 1 (2) 30 SrEd, 1948 @I
(3) 26 5T, 1950 HY (4) 26 AqTaR, 1929 B

42. Which Schedule of the Constitution of India contains special provisions for the
administration and control of Scheduled Areas in several States ?

(1} Third (2) Fifth (3) Seventh (4) Ninth |
qﬁmw.ﬁmmﬂﬂﬁﬁﬁﬁﬂmiaﬁﬁﬁuﬁ?a?ww
oy T s wEae 8 7 |
(1) gdr (2) dadl (3) Wt (4) 7

. Constitution recognises minorities on the basis of :

- 1:?1::15;;1 (2) caste (3) population (4) colour
;@uﬂﬁmam@ﬁaﬁﬁmmimwﬁm%?
(1) o (2) wfd (3) e (4) ¥
(10)
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17U/103/31(Set - 1)

44. Under which Article of the Constitution is the President's Rule promuigated on
any State in India ?

Wﬁﬁmwmmmﬁmﬁwﬁwmmmm
22

(1) 356 ) 352 - (3) 360 | (4) 370

45. Which of the following appointments is #ot made by the President of India ?

(1) Speaker of the Lok Sabha (2) Chief Justice of India
(3). Chief of the Air Force (4) Chief of t};e Army

P 3 @ R Praf aea & sy g o o o @ 2

(1) dEaq & ¥hew (2) 9Ra @7 gE AR
(3) TRwR @7 gfan  (a) ek o Rwm

46. The members of the Rajya Sabha are elected by :
(1) indirectly
(2) mostly nominated
(3) directly as well as indirectly

(4) the members of the Legislative Assemblies and Leglslahve Councils of State
NI & HEw| BT g drar |

(1) avcay fRate gw

(2) TRRR ¥ gRI

© (3) w9 uege fatew gm
(4)Waﬁfﬁammmﬁhﬁm$mm

47. The time gap between two,Sgssions of the Patliament should not exceed -
(1) 3 months (2} 6 months (3) 9 months (4) 1year
w6T @ QY wAl @ B I e SrEr 7@ B iy o
(1) 3% ¥ (2 67E Y (3) 99 ®

(%)

4) 1 wfy

" 10,

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17UM103/31(Set - I)

48. Who appoints the Governor of Jammu and Kashmir ?
(1) Chief Minister of the Stale
(2) Chief Justice of the High Court of the State
(3) President
{4) Prime Mimister

TR @ wouare @ Pl B e 8 7

(1) T8 &1 5§ 74

() I B TwG ARG @ FE TURI
(3) v

(4) wErTEE)

49. The Congress lost its monopoly of power in the States for the first time after the
elections of :
ﬁmgdm%mmmm#mﬁmﬁﬂﬁwﬁm?

(1) 1967 (2) 1971 3y 1977 (4) 1955

50. Which one of the following Amendments of the Constitution of India deals
with the issue of strengthening of the Panchayati Raj ?

(1) 42™ (2) 447" (3) 73™ (4) 86"
R Qg TRE @1 e GardRe @ ggdiee & fg @ et
27
(1) 4241 (2) 44df (3) 738 (4) 86dT
51. Indian Constitution was amended [or the first time in:
R fur ¥ uRdT WeheE ®d g
(1) 1950 (2) 1951 (3) 1952 (4) 1953

hich of the following Constitutional Amendments banned the floor crossing

52. W | ?
in the l:jr'uament . (2)_ 3 . .
;;i 3 fr AT WA o7 WA ¥ To-AEa W ARiER o T
(1) 42 @) 4 (3) 5k "

(12)
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17U/M103/31(Set - I)

Directions (For (. Nos. 53 te 62) : In the questions given below are two stalements
labeled as Assertion (A) and Reason (R). In the context of the two statements, select
the correct answer by using the codes given below statement :

Rdw (7e7 5o 53 ¥ 62 @ forg) : Py wwt ¥ @ T, T WEAM (T) o gEw BN
(%) e m B) 39 ) wu @ wol A wwe M Ry U e @1 T e g 9
IR BT TG99 HifAY ¢

53. Assertion (A): The power of amendment under Article 368 does not include
the power to alter the basic structure of the Constitution.

Reason R):  The right to equality does not form part of basic structure of
the Constitution. ;

Codes: :
Eg ggi 1; and R’ are true and 'R’ is the correct explanation of ‘A"

‘A" and 'R’ are true-but 'R' is not xplanati ‘A
B At b R 15 not the correct explanation of

(4) 'A'is false but 'R’ is true. :

WS (¥) 1 7T 368 & wed wWelkm @ wiiw ¥ Wi @ gm @ F dave
o ufed e T8 & |

PR (AR) @ WA B ISR ST B g 2 @7 am ¥

?:

(1) ¢ oY ‘& & 7 & iR oR ¢ a1 6 W 2 |

(2) T IR A AE wH ¥ A AR v @1 w78 2

(3) T WE 8 AfFT UR wem ¥y

(1) T g & T I wd

54. Assertion (A): The territory of India is larger than the territories of the Stafe:%
Reason (R):  India is a Union of States.
Codes: :
g} Both A’ and R’ are true and 'R’ is the correct explanation of ‘A’,

) Both 'A' and 'R' are true but 'R' i ‘Al

ol Kok ut 'R" is not the correct explanation of ‘A’
(4) 'A’is false but R' is true.
qrear (§) : ARA @ LN W et @ wgad -0 W gy 2
FROT (3AR) : R TR b TEF
e :
() T AR A A R E M v wde g
()T AR T E Wy o v el o g
(3) T | 2 ol AR T & i | '
@) 7 e olf W ER Y

(13)
PTO

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17U/103/31(Set - 1)

55. Assertion (A) : The President of India is not a part of Parliament.

Reason (R): A bill passed by the lHouses of Parliament cannot become law

without President's assent.
Codes:

(1) Both 'A' and 'R’ are true and 'R’ is the correct explanation of ‘A",
(2) Both 'A' and 'R’ are true but 'R' is not the correct explanation of "A’.
(3) 'A’is true but 'R’ is false. |
(4) 'A'is false but 'R is true
WG (T) @ WRd &7 Uy Gwe F 96 a6 2
W(W):Wﬁmﬁmﬂmﬁaﬁamaﬁﬁmuﬁgﬁﬁwaﬁﬁ
edl |
LT
(1) T AR AR I wd # iR AR ¢ BT Al wER
2) ¢ ok e 2w ¥ A eR T F A W T R
(3) T 9& & afFE YR Ted B
@) T oo & wfye e W@ B

56. Assertion (A) : The judges of a High Court cannot be transferred.
Reason (R): The independence of the judges of High Courts is sought to be
maintained by the Constitution.
Codes:
(1) Both'A'and R’ are true and 'R’ is the correct explanation of ‘A",
(2) Both ‘A" and R’ are true but R’ is not the correct explanation of ‘A’
(3) 'A'is true but R'1s false.
() 'Ais false bul 'R’ is true. . “
g (©) o TaTeEl @ il B wrRRe T a5 g6 |
W(m}:#ﬁmmﬁmmauh%mmﬁnﬁaﬁwaﬁmm
e 2 |
B |
1) T A R A S E AR IR & W TP
@) v i IR 2 & E A ane T DT T WG A ¥
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§7. Assertion (A) : India is a democratic republic.
Reason (R): The Head of the State is elected directly by the people.
Codes :
(1) Both'A'and 'R’ are true and R’ is the correct explanation of ‘A",
(2} Both "A’ and R’ are true but 'R’ is not the correct explanation of ‘A’
(3) 'A’is true but 'R’ is false.
(4) 'A'is false but 'R’ is true.
WA (Q) : @ Yo ot aeas 2|
TR (SY) : W F ReA S T A g e 8|
3T .
(1) T 3 IR T W AR T B W
(2) T AR R A E e am v @ e T 9 2
B) T W} T R T ¥
(4) T T & ofdw e ol #

58.  Assertion (A) : Dry battery cannot be recharged.
Reason (R): The chemical reaction is reversible.
Codes : '
(1) Both'A'and 'R’ are true and 'R’ is the correct explanation of 'A’,
(2) Both 'A’ and 'R’ are true but 'R' is- not the correct explanation of 'A'.
(3) 'A’is true but 'R’ is false.
(4) 'A’is false’but 'R’ is true.
W () : gl dTd gaaret ol & o wed
I (ER) : e B afeds 2
xR - |
(1) ¢ 3R o 3 7l ol ar v o wd Wl #)
(2) T 3R IR I W E AT R v P v o a2
(3) T W 2 A AR THT®
(4) T Td 2 afFT ar wd &

59. Assertion (A): Ventilators are provided near the roof.
Reason (R): Conduction takes place better near the roof.
Codes :
(1) Both i’; ﬁﬂdﬁ;ﬂ‘ are true and 'R'1s the correct explanation of Al
TA! and [+ A F » LI
g; T’?ﬁ true but Ra?s?:l;:m . ki et ety of 'A’
(4) 'A’is false but 'R'is true.

PTO.
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WG (T) ¢ BO @ IR Jere] W o B

PRI (AR) : Ta B GAC Ted¥ Hed) awE | A v

e - '

(1) "¢ 3N s Q- ad ¥ ORI T @ e TR 2|

() T AR AR o T § AT AN T T G Weleww T E
(3) ¢ ¥ & afhq e wed Bl

(1) T T ® AT AR T e

60. Asscrtion (A):itis easier to start a car engine on a warm day than ona chilly day.

Reason (R): The internal resistance of a car battery increases with increase in
temperature.

Codes: '
(1) Both'A'and 'R’ are true and 'R’ is the correct explanation of ‘A"
(2) Both 'A' and 'R’ are true but R' is not the correcl explanation of 'A’.
(M) "A"is true but 'R is false, '
(4) "A'is (alse but 'R'1s true. ‘
W (g) : R PR g 88 R B g A e TR A T
W(:m):wmzﬁrmlﬂﬁqﬁgﬁfaﬂ(ﬁﬁﬂ}wémﬂrtﬁm-m
aGe £ | '
e
(1) T 3R IR A W ¥ AR AR T B W
2) T R IR A T § AT IR T &1 el TR 78 2
(3) ¢ WA T wfrT IR e €
(4) ‘T e B AP AN WL €

B1. Assertion (A): Nitrogen is increasing in the atmosphere.
Reason (R): Plants need nitrogen for their growth.

Codes:

(1) Both 'A' and 'R’ are true and R'1s ttte correct explanation of 'A".

2) Both 'A’ and ‘R’ are true but 'R' is not the correct explanation of 'A’.
@ A’ is true but 'R’ is false,
(4) 'A'iS false but R'18 trve.

(16)
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mm:mﬁ:ﬂgmw@%l
W{m:qﬂﬁm}mﬁmm@mm%ﬁl

e -
(1) T R R S vl & ok I T B wE wLeRT &

() T AR R D ¥ ;M AR T @ v e T 2
(B) T uR 2 AfeT AR ma ¥
(4) T o ? S aw W@ ¥

A Amrtmn (A) : Long distance radio broadrasts use short wave bands.

Reason (R) : The ionosphere reflects waves in these bands.

Codes:

(1) Both'A'and 'R'are true and 'R’ is the correct explanation of 'A'. |

(2) Both 'A' and R’ are true but R' is not the correct explanation of ‘A",
(3) 'A'is true but 'R’ is false.

(4) "A’is false but 'R’ is true.

WA (®) : wht g0 @ R dfswve Wi 39 dgw &1 I9ET B 2
FRVT (@) © 57 dew 3§ g a9 37 waifa wwr 2

R |

(1) T R ‘o 2 @ ok oW v T ad wedlewo 2

(2) v AR FR 2 ¥ e AR 7wl w2
(3) T = ? AT WX e §)

(4) T TrerT & A7 SR W B

Dishonour of a ;:heque is an offence under the :

(1) Negotiable Instrurents Act, 1881 (2) Indian Contract Act, 1672

{3) Code of Criminal Procedure, 1973 {(4) Indian Penal Code

UF BT AN I 8, sk

(1) wopra forea sfafam, 1881 & (2) wwha wRT sififegg, 1877 &
(3) < wlbar €, 1973 @ (4) e % W

17
(17) PTO.
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64. When a Court sends someone in judicial custody, then it means thalt a person is:

85.

(1) Sent tojail

(2) Sent to police lockup

(3) Sent home under judicial protection.
(4) None of these

T ST e @t i aftren # Y €, @ gHe arad g E S
(1) oie % fRar o &

(2) yferq earera ¥ #w Ry W 2

(3) ~ufE TREwr & srate BR NS T R 8

(4) 3% | B8 e ‘

Which Courts jn India are empowered to issue writs as provided in the
Constitution of India ?

(1) Supreme Court (2) High Courts
(3) District Courts {4) Only (1) and (2)

tﬁ?ﬂﬁiqﬁa%ﬂﬁuﬁﬁﬁmw% Wﬂﬁwmﬂﬁemwm
o ofde & 7

(1) waren <ETed (2) Seu AT
(3) foren =y @) @ad {1) 3R (2)
66. Which one of the following polymeric materials is used for making bullet proof
jacket ?
(1) Nylon 6.6 _ (2) Rayon
(3) Kevlar ' (4) Dacron
ﬁﬂﬁﬁmm&frﬁﬁﬂmwwﬁﬂgéﬁwmwﬁﬁﬁm FwT g ?
(1) gty 6.6 - (2) A=
(3) B (4) 2?1
Where is Salar Jung Museum situated ?
(1) | lyderabad (2) Jaipur (3) Lucknow (4) Mumbai
ATAR W IR gl ferd 8 7
a) e (2) TR (3) TS (4) i
(18)
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68. Who among the following wrote "The Communist Manifesto" along with Karl

69.

70.

Ti:

Marx ?

(1) Emuile Durkheim ' (2} Friedrich E{lgels
(3) Robert Owen (4) Max Weber

P % 9 ey ol T @ Wy ) wgfe Ao fored ?
(1) s gdw | (2) wsR& (o

{3) ed aaw (4) ¥ =

Who was the first Indian woman to swim across the English Channel ?
(1) Shanta Rangaswami (2) Arati Saha

(3) Santosh Yadav | (4) Kamaljit Sandhu
§Paw 78 B dvew IR T e TEeh el wRa B R 2
(1) wiar e (2) R e |
(3) wa Ay (4) Fwerofie Hy

How much is one barrel of oil approximately equal to 7

(1) 131 liters ‘ (2) 159 liters

(3) 257 liters - (4) 321 liters

1% RS I &0 fho B aweR gar # 2

(1) 1B1efex (2) 159 Hre

(3) 257 eftexr (4) 321 ofrex

The Chairman and other members of a State Public Service Commission shall
be appointed by the :

(1) President

(2) Governor of the State

(3) State Public Service Commission itself

(4) Union PublicService Commission _

o e dar ard B A o get e s g R R o 2

(1) Ry

(2) TG & I
(3) o7 W T AT AT W
(4) wa Fd {97 AT

19
(18) P.TO.

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17U103/31(Set - )

72. Who is known as the father of International Law ?

(1) Austin (2) Oppenheim
(3) Bentham (4) Grotus
Feniedir fafe o1 fier o ®gorar 8 7
(1) ™ (2) SRR
(3) TH (4) NeH
73. Thm ry of Social Engineering is given by :
(1) Duguit (2) Ehrlich (3) Pound (4) Thering
amE At & g e fem ? o
(1) TE (2) wesfera (3) uSs (4) FERT

74. The essentials of a valid custom does not include :

(1) Consistency (2) Obligatory force
(3) Unreasonablehess (4) Al of the above
o=t ¥ @ @ WG ST @ sneed T A e TE# 2 ?
(1) sifernd (2) TMIBN T
(3) RyfeergaaT (4) SURIET @A
75. The opposite of liberty is :
(1) duty (2) noclaim (3) - disability (4) slavery
hic SR CCIG RIS
(1) sy (2) - T (3) Sl (4) I

78. The word 'Tort' isof :

(1) French origin (2) Roman origin
(3) Latin drigin (4) Commonwealth origin
o 2 @1 I 8 |
(1) #=a I (@) ?"‘ﬂ ELUL
@3) A I (4) BT I
(20)

[ ]
gcollegedumas
India’s largest Student Review Platform

—



77.

78.

- 79.

17U/103/31(Set - )

Which one of the following is not a libel ?

(1) A defamatory matter in printing or writing
(2) ‘Taking' cinematograph film

(3) Signs or pictures

(4) Sounds or gestures

Pt 3 @ Frar soae-drm @ § 2

(1) OU EN SoraT R B SO R
(2) Reverms fRseq @ T |
(3) Haa T7 wiey

(4) =t srmEr gg-aTE

The essential ingredients of a crime are :
(1) motive, mens rea, and actus reus

(2) motive, intention and knowledge

(3) actus reus and mens rea

(4) knowledge, intention and acﬁon |
IR & AT A B

(1) &g smoRris AaRufly o St o4
(2) ¥g wmm sl w

(3) awgot @t IR snoRiRe w Ry

(4) ==, ey AR FW

The word 'Instigate’ means :

(1) tocheat (2) todo unlawful act
(3) to provoke (4) topromote |
FHAAT UE BT A3 2
(1) 87 &N (2) TN B} vy
(3) HeHFT - () W R

(21)

PTo
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80, Otonce of theld is retated to

) movaple property only (2) immovable property only
(&) property only (4) All of the above

ar FT e PR sy € 7

(1} % o1 TRy | (2) R ama wAaRy 9

(%) few gty @ (4) IR WAt |/

81. Which of the following is used as a lubricant in heavy machines ?

(1) Bauxite (2) Phosphorus
{3) Graphiiy. (4) Silicon oil
Pt 3 i el & s @ foRl wies ae-wr B 7
(1) dieErsge (2) WIEPNE
(3) dwige (4) RaferetT altger
82 Ihe filament of a haldgen lamp is an alloy of :
(1) Tungsten and icdine (2) Tungsten and bromine
‘3 7 ungsten and sodium (4) Molybdenum and sodium
por BT g P # ) faw fserg &1 8T € 7
1) T T A (2) € T4 A
o @REd g aem (4) WiafeT va |feus

g83. Furo Norms place limits on the amount of an emission of a gas in automobiles.
Thegasis:
(17 Carbon dioxide (2) Carbon monoxide
(3) Nilrogyi (4) Methane -

i gmﬁ‘xamf&ﬁ%wﬁaaﬁwﬁﬂwaﬁm%ﬁaﬂwiﬁ

:2:;31 &
{E o . ; -
. gresigEER (2) BT AR
i1) widA © s i . :
" 4) F=

(3) EENA
(22)
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84. The softest mineral, Talc (Soap stone) is mainly :

ar.

(1) Manganese silicate (2) Sodium silicate
(3) Sodium phosphate (4) Magnesium silicate
st afe Eew (W wR) e #
(1) e Rrehaie (2) wifegn faelae
(3) Hifsg wipe (4) #ifram Relrde
Correct order of colours in a rainbow is :
(1) Blue, gi-em, violet (2) Violet, green, blue
(3) Blue, yellow, green (4) Blue, green, yellow
TR # it @7 W R
(1) e,z F=h (2) §R, B A
(3) e, @ B (4) e, &, dren
Which of the following fights with infection in the body ?
{1) R.B.C (2) W.B.C.
(3) Blood plasma (4) Hemoglobin
WR X 7 & A SF-ar wma F gan e wver & 2
(1) 3o #o o ' (2) Sgo qio Hio
(3) T &= (&) erafE
The pair of rivers draining into the Black Sea, is :
(1) Volga - Danube. ' (2) Dnieper - Volga
(3) Dnieper - Dniester (4) Ural- Volga
FTel WR ¥ e areh Wt e |
(1).9m - 43 | (2) e - qem
(3) AR - AR (4) T - Ay
Kwanto plain is in :
(1) China (2) CamPdia  (3) New Zealand (4) Japan
) Ao R 2w 4 8, W@ 8
(1) @A ) 7w (3) =quiteive (9 Sy
(23) |

P.T.0.
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89. Kandharis located in:

(1) Southern Afghanistaﬁ (2) Northern Afghanistan.

(3) Eastern lraq (4) Western Pakistan

e fRem 2 ¢

(1) =freft smnRem i 2) sadr sprifseE= ¥

(3) F@ TS W (4) yf¥ed wfds A
90. 'Zulu isa tribe associated with ©

(1) New Zealand (2) South Africa

(3) Zimbabwe (4) Mexico

Sef, & i 2 P waa e i R 22

(1) ~guevs (2) efdror amra

(3) Fommd (4) Aol

91.  Who amongst the following first used the word 'Swaraj’ and accepted Hindi as

the national language ?

(1) Raja Ram Mohan Roy  (2) Swami Dayanand

(3) Swalni Vivekanand (4) Bal Gangadhar Tilak

Brer & & frg afde & wdwem wRIe e @1 AW R AR Rl @1 s
Hie] 7

(1) Ol W AET @ (2) W T

(3) A = (4) T IR FE

92. 'Green Revolution’ means
(1) Use of green manure (2) Grow more crops

(3) High yield variety pfugramme (4) Green vegetation
“fa wfa ¥ AT B

m?_ﬂ@ﬁﬁm (2) ST FFEA S
3) @awﬁmﬁmf‘* @ T TR
(24)
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97.

Iron is obtained from :

(1) Limestone (2) Pitch-blende
(3) Monozoite sand (4) Hematite
e Foree wia fvar o 8, 9w 2 -

(1) g7 &7 ReR 2) Re-=t=e

(3) writaTge X (4) Pere
Wdlmofthefoﬂowingisafmit?

(1) Potato {2) Radish

(3) Lady's Finger (4) Sweet potato
=1 4 & P v w2 2

(1) s ' @) 7

(3) frvd (4) W

The unit of electrical resistance of a conductor {8 :

(1) Farad (2) Volt (3) Ampere
s & Iga ARued I TeE & .

(1) wre (2) e (3) g

Study of friction and lubrication is :

(1) Cryogenics (2) Selenology (3) Horology
o1 U4 wEw BT ey §

(1) HrEmfE (2) SR (3) BRIt

Suez Canal connects :

(1) Black Sea - Red Sea

(2) Black Sea - MediterratenttSes
(3) Red Sea - Mediterranean Sea

(4) Blackﬂeaaﬂﬁlfﬁp—_.

(1) & AR — TS
(2) I AR — HEG W
(3) @ R — ETH
(4) e AR — W B TR

(25)
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(4) Ohm

(4) 3w

(4) Tribology

(4), STgaNI
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98. Days and nights occur due to:
(1) earth's revolution (2) earth's rotation
(3) inclination of the earth’s axis (4) moon's revolution
fE=1-wra fors oy B B, 988 |
(1) J-9RmAY (2) -aRuHo
(3) T & I BT g (4) BT BT ARG
99. 'Bibi-ka-Makbara' was built by : |
(1) Humayun (2) Shahjehan (3) Akbar I (4) Aurangzeb
AR H AR 1 feer o |
(1) &g (2) wETEl (3) doR Rda () SRR
100. Chilka Lake is situated at :
(1) Karnataka Coast’ (2) Malabar Coast
" (3) Konkan Coast (4) Uttari Sarkar Coast
Rreer e st R %._ EER-
(1) Flca® te (2) WIAER e
(3) ®iFHoT A (4) U9 WBR T
101. Measles disease is caused by - :
(1} Virus ' (2) Fungi
(3) Bactena (4) Mycoplasma
ey g A g 2
(1) e © (2) Ha® A .
(3) o | (4) WFHICIAT &
.1 one of the following is a true fish ?
. ::r)m;htai.u;;sh (2) ]j}y fish (3) Hag fish (4) Sea horse
%ﬁﬂﬁmﬁwﬁﬁﬁq%wﬁ%?
(j}mﬂ‘m (2) e (3) 'b'T"ffEh'!T (4) T =
103. Underground ‘Euro-tunnel’ constructed for the fast running trains joins ;

(1) Holland and England
(3) Belgium and Holland

[?.) England and France

(4) France and Luxembourg

[ ]
gcollegedumas
India’s largest Student Review Platform

—



17U/103/31(Set - 1)

At Yot & forg fAffa g @ gR oed e 2w
(1) &efe Ut §73s (2) 37ere @ Wiy
(3) dfesram vd wrole (4) Wiw Td s
104. The number of already known bones in the human siceleton is :
A4 PHIA A 4 T T efgedi &) w2
(1) 280 (2) 200 (3) 220 (4) 206
105. Thei;:tmosphere is a mixture of several gases. Near the earth surface' it contains
mainly : ‘
(1) Nitrogen and Oxygen
(2) Nitrogen and Carbon dioxide
(3) Oxygen and Carbon dioxide
(4) Ethane and Oxygen
TR % YOR 3t Ml @ Rspor § 77 2 H B Tordie g N ;
et Sl ® ‘ o
(1} Ry 73 sifmfor
(2) ETEA T FdE TRsiiaaTe
(3) e 1@ I SRRz

(4) 399 U4 3fqdor
108. Light year is the Unit of ;

(1) Distance | (2) Time

(3) Age (4) Intensity of light

W af Eﬁﬂﬁ ?: | |

H@aHa (2) 99 &

() sy 2 : (4) v %1 daa 3
107. Ina Wick Stove, Kerpsine pises up the wick due to :

{1) Osmosis ~ (2) Diffusion

(3) Surface Tension (4) Plasmolysis

wh T wrE A I B O T gy o7 s 2

(1) wer ) fawer

(3) 7% TE (4) Aerage

{27)
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108. Who was the first Governor-General of India ?

(1) Robert Clive (2) Warren Hastings

(3) Lord Mayo (4) Lord Dalhousie

WA B G IR R o

(1) e Fonga (2) e RETE

(3) @is #= (4) @S Tt
109. Apiculture is the scientific method related to the production of :

(1} Honey (2) Silk (3) Apple (4) Lac

e T Yefie RR ¥ ot e Swed § Wl 87

(1) e (2) ¥ (3) W9 (4) 9=
110. Abnormal Wealher-conditions presently prevailing in India are attributed to :

(1) Ozone-hole (2) Air-potlution

(3) El-Nino (4) Tropical Cyclones

v N T &) sy AR sTaRemell & f?rqwm??r%_:

(1) de=-fos (2) AGHGTT

(3) - (4) TWBCHFHEIT AHAT

111. How many nimbers of Upanishads who are also known as the Vedantas ?
mﬁ&aﬁna%m%-@mﬂrm%, F @ £

(1) 96 (2) 105 (3) 108 (4) 112
112, The phrase - The Light of Asia’ - is applied to :

(1) ilexander (2) Chandragupta Maurya

(3) Mahavira (4) Buddha |

wfm - wTEe 3 ST ~ e ford wgaa fvan o € 7

(1) Tadie . (2) =T A

(3) Hfuli'j!'\' - (4) 9%

According {0 the Buddhists, who is believed to be the next incarnation of
113.

Gaut:::ddm | (@) Maitreya @ Nagatjuna  (4) Kalki

:; gl & ST e g F T S E |

1) ¥ (2) ¥ (3) WA (&) weh
(28)
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114, Who among the following was a great ruler of Kalinga in ancient times ?

(1) Ajatasatru : (2) Bindusara
(3) Kharavela i | _ (4) + Mayurasaman
STt T Frsr 4 & F BRAT B TR AT o ?
(1) 3rTerTy (2) fagonr
(3) @A (4) TR
115. In which century &id Ashoka reign ?
(1) Second Century B.C, (2) Third Century B.C.
(3) Second Century A.D. (4) Third Century A.D.
IS =g v ¥ e oy ?
(1) fadfra wdt do 9o (2) T WY §o Yo
3) fafa vy S (4) ey Gt dud
116. Saka era was founded b}; : |
(1) Ashoka (2) Harsha (3) Kawmehic, (4) Vikramaditya
IF A B & Bay @) ?
(1) areira 2) =9 - (3) Hfsp (4) fawmifaay

117, Decimal system was introduced by ; .
(1) Aryabhatta  (2) Brahmagupta (3) Bhaskara (4) Kautilya

A (TIeE) o e it o 7
(1) mmee (2) wEI (3) ey (4) #wy
118, ;:'::; of the following vas the 2Jox source of royal income in meg;, i
(1) Jaziyah (2) Kharaj (3) Zakat 4) Kham
fer 3 | 319 mﬁﬁwmﬁwaﬂwm'mr%m'?
(1) (2) Gt @) o 5
{29)
PTo
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119. Mughal dynasty was to Bahadur Shah Zafar as Lodi dynasty was to :

(1) Bahalol Lodi (2) Daulat Khan Lodi
(3) Ibrahim Lodi (4) Sikandar Lodi
S TR YR qETeR WE IR B frd A & < o fwe e enn 7
(1) ¥&<ra el (2) dera @ Er)
(3) gofan S | (4) Ryper A
120. Kabir was the disciple of :
{1) Chaitanya | (2) Shankaracharya
(3) Ramananda (4) Vallabhacharya
oaR fvws ey g7
(1) T (2) wipxrEd
(3) VAT (4) TeerTard
121. The difference between the local value and face value of 6 in. the numeral
58672318 :
586723 e # 6 A ¥ty Ay ol v Ay B A H IR AT
(1) 723 (2) 6717 (3) 5994 (4) 7483

122, The unit digit in (584 x 428 x 667 x 213)1s
(584 x 428 x 667 x 213) # YT Refre (wem) & -

w2 - @3 " e S
123. '1'1391-1 ;; 3434 | - 3) 4155 4) 11123
o 2:827:216: ) Zeam  EPURE . () DR
195, 106;:106..94x9“-'=;) . 5 1904 & 1906

(1) 10 (30)
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126. 3 L
If . of 60% of a number is 36, the number js :
mwﬁwéﬁnuﬁmm% e 36 8, O ag der €
(1) 100 (2) 80 (3) 75 (4) 90
127. The first prime number is :
gq RS e
(1) 0 (2) 1 (3) 2 4y 3

128., The largest four digit number exactly divisibie by each of 12,15, 18 and 27 is .
AR 3T W T ) W W 12, 15, 18 e 27 Teg q Frida &, ag k
(1) 9690 @) 9720 (2} 993 (4) 9960

- 128. ;" a question on division with zero remainder, a candidate took 12 us Jivie e
ms_tead of 21. The quotient obtained by him was 35. The correct quotientis:
& 9T o ofier 9 @ Rupm oo, A 21 W WTE 12 @ i) 6L
ST TR foRi1 | THET AT 35 Wy g | WE HTGR wvag, ?
(1) 0 {2 12 (3) 13 4) 20

130. L.C.M.of 22,54,108,135,198 is :
22,54, 108, 135, 198 BT FoWoo By

(1) 330 2) 1980 (3) 5940 (4) 11880

SECTION -l
B 3T
- Either
Engliah Langugs_

Note : Four alternatives #re"glwen.ag pocsible answers 10 each gyecy on. ¢
© Lnuve the

correct choice as an answer.

Direction (Q. Nos. 131 t0 388) : Selact the word negyest in mearing to the . -
AN wa d.’
131. Fastened: - )
(1) Speed 2) Tast (3) Ted 4) Q

P.T.0.
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132. Curbed:
(1) Controlled (2) Round (3) Turn (4) Fear

133. Merely:
(1) Miserly (2) Nearly (3) Poorly (4) Only

Direction (). Nos. 134 to 136) : Select the word which s opposite in meaning to tie given
word !

134. Advanced:
(1) Syllabus (2) Rough (3) Study (4) Elementary

135. Ancient: |
(1) New 2) Modern (3) Fresh (4) Early

136. Complicated : : |
(1) Simple (2) . Several (3) Straight (4) Comply

Direction (Q. Nos. 137 Yo 139) : Select the right word to fill in the blanks :

137. | think that he is gething ............... up with the constant demands of his boss.
(1) bored (2) fed
(3} angry (4) lit
138. THe decndedtnbmld the house from ........oveer 5
| (1) scratch (2) solids (3) one (4) beginning,
5 from {me t0 ...ocereeecnens
o to that res taurant
13*9‘ :T: Sﬂpn 2y all (3) always (4) time
0

\as, 140 to 142) : Choose the word wkuh can be substituted th e

oction (Q- 1
D“jc:ngd coordsin both the gTven sentences :
unaer

a‘trachive,
0. ) Teghtioows
’ cure cnthe wall is stunming | |
(b) The pE (2) good (3) soothing (4) beautiful
e (32)
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141. (a) The show was quite hilarious.

{b) Some scenes from the movie were comical,

(1) funny (2) sad (3) engaging (4) captivating
142. (a) India need a stable government.

(b) The rope that held the boat was tough.

(1) majority  (2) strong “(3) good (4) reliable
I i o e s e

143. All of a sudden it became clnudy and beginning to rain.

(1) began (2) begun {3) begin 4) is beg;an
144. I tried to catch her eye but she didn't listen me. .
(1) hear (2 tell (3) come {4) notice
145. The profit was shared in the shareholders. f
(1) for {2) all ~ (3) among _ (4) together
146. A litter of elephants destroyed the plants, '
(1) collective - (2) .group (3) pack _ (4) heard

Direction (Q. Nos. 147 to 150) : In the given sentences, identi
underlined words ; ' , identity the parts of speech of the

147. The plane flies above the clouds.

(1) Noun 2) Ktvert (3) Preposition  (4) Adiective
148. She moved slowly down the aisle. :
(1) Verb (2) Preposifion (3o {4) Adverb

149. Torun's overworked computer gplo_d_@d m!wm

Wy Vao ‘@®epdactiye  (3) Noun (4) Adverb
150. 1have a fast car, but.my friend has a faster car. |
(1) Verb 2) Adjecthee {3 ppreme @ A dm'_b
- P.TO
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SECTION - I
gvs -l

OR
aear
=& Wmar

Ay : Frafafes we @ (1), (), (3) T (4) F5F F - gR Tefws I R W T
el | 7 vo & W B | o9 wEt T 1 g

151, s 2 Prodi & R W @) w0 FEQ B 7
(1) sty . (2) iR AT

(3) MHIOMHE WH] (4) RHEE HIEI

152, rch arwr P 7t @ wrafam ¥ 7 _
(1) @ &= 2) faer - (3) g (4) @ren

153. =< fiaw fm‘ama @) Hiy) AR B ¢
(1) 14 37% (2) 14 Ryl (3) 14 ETER (4) 14 AR

154, o @ oy dqmrdy W B Rrw SRR B AR g g 7
(1) 343 Q) M6 (3) 344 W3S

155. Y& wreE afE BT

(1) v R
(3) S (4) S
156. Y& T& gaferd a‘ﬁm .
(1) freer= - (2) fer (3y fasdt (4) Prei-ars
(34)
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157. oRuifle oeg &1 9u9 #ifemw . .
(1) regfd (2) fgfes (3) Wyl (4) vfa sfaa

158, GEe ¥ B et R — A ¥ e 9 aods DR 9§ 2

(1) (2) foam (3) frdngr (4) oo
159. o sigwr o & ? — e ¥ R o amale AR @ g 7

MW wr () whm 3) fadrmer (@) s
160. “Mure ug § HH-w7 W @ ?

(1) &y () &= (3) FHIRY (@) TgAf
161. ‘smelfde sfiRew B ¥ vw wrfe v i @

(1) ReR - (2) Rerd 7o

(3) smepreagRy (4) R
162. R 97 v, g% Ry #rr - i & S-ar srieR 2 ?

(1) sw (2) Sden (3) wv& (4) fepma

163. Iy &1 6 Rl a & 2
(1) WIS (2) v (3) PR (4) AP

164. gfem e A BT qerY @7 Wl af g 2 2

(1) @ 4 g (2) aemH FR
(3) FOMET &R (4) waw &

165. T 9 wieR & Aeaefy & ?

(1) e (2) o
(3) AN o ' (4) q’E;[ m

(35)
P.T.O.
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166. RN 5w TEer ® S i ue wdie oF 8 7

(1) AT (2) arerm
(3) WaTETE B (4) oI g TfEE

167. Frdar frwd gr Am ITUE € 7
(1) BeuA (2) wefaver o)
(3) wadrawor awl (4) g g fgad

168, T SN TR fpa ol I1 FE-ETE B 7
(1) v (2) Wi Hs
(3) T (4) TR wETeR ¥

169. SapmaTE @ WRE 81 @1 oF e @ v
(1) 193630 (2) 1943 go (3} 1952 %o (4) 1960 %o

170. = AWe TR fa wer @ 9= ' 7 |
(1) %3 (2) THEIT (3) ¥R (4) TS

(36)
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arfefay & forg face

(&8 SR @ SR SRRV W T SHoTHodRe ITRTR B BHT U R et HeiFreh FraEe 7Y 2 1ok

1. w&1 Raa el 3 30 fre @ =R & 38 o 5 g 4 wf g e € ol o
g gel A9 2| qRaET SN U W W e gE b o8 Fries 3 aw
wR g @ gl gRkT e @R el

2. TR Had N fywreT T FAN-gF @ Ry, R @ wEr @ A gell T
WA H A ol

3. TS yo § Ry & g9 T ot A o 7 @ Rpa w @V oueId TE
a7 s Paw waeva &7 @ e [y i

4. AU AT qUT TORTA B AAE FYF SERrye w 97 ¥ FERe @
93 (o | -

5. mw%mwwh#mmﬁﬂfﬁaww%#m:ﬂémﬁ
#t MeT @ &1 wel-wEl wravaw 8 g8l wEgRaET &7 BAE YT W B T
S vt o ford 1

6. 3o The R0 WA WX ATHEE e, Hﬁ-ﬂﬁ?ﬁ'ﬂmﬁ'ﬂfﬁﬁmfm%aﬂéﬁ)am
To-gReTT TR Wﬁwmaﬁn\%mﬁwauﬁ@ﬁﬁmﬁézﬁ?ﬁ
Ry T ¥

7. s TRk ¥ 9 0 wRadw wa Flas g gafda @ afed e TE I
&rgrﬁwuaanmrmml

B.HE-gﬁaﬁﬁmmﬁ$mWwﬁifnﬁ§rmm$Ww$
£ grow) ST # WAEra 9 @ w23 T3 g9 B SORTA @ AU 7O W
o 7 Fdet B e ar-aige T @ eT HNA B

9. HeiE Sv B SR & r) 399 1@ & g9 B maT Y1 UF W I g B TR <A
mmﬁnmqwaa‘rmﬂﬁwwmwwml

10. erT & fF v W WTE G A TR qwan A¢ W weay B/ AL I [ w
@l aﬁ?aﬁéwaraﬁ?;mmﬁqnuﬁﬁ%wﬁﬁ&nﬁw?ﬁ#mtmﬁi
A W W I e R S

11.waﬂii$ﬁmwgﬁama‘igwrpﬁaﬁmwwmaﬁqwﬁhgﬂm
T | _

12.@&1%@17:7Wa#owomam-wﬁqﬁmmﬁmmﬁ|
13.qﬁmmﬁm@qaﬁuﬁmmﬁmmﬁ$ajﬂﬁﬂﬁ@ﬂl

-,4_zrﬁmﬁmﬁqﬂmﬁaﬁﬁmﬂm:ﬁw-nmwﬁ.ﬁraﬁﬁwﬁwmwﬁuﬁa

e ml/ﬂm’ﬁﬁ"n/?ﬂm
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